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He sold him slaves and land - MYPIPY 2972V 19 19N

OVERVIEW

The X713 insinuates that there is a 2°Xin nP2nn (in two separate NMn*92) whether
"7 YPIPRd 27aY or M7 “Huound. One XN*>M2 is cited as saying MypaR1 072y 19 1on
"23. Seemingly this (first) part of the Xn>™a is irrelevant to the nP12n» mentioned.'
mooin will explain the significance of citing the beginning of the &n>12.>

- %5999 *23N Papa
This is a case where he is acquiring the 0’72y, etc. through 28 11p -
- PYLYLNAY BY1AY 12 YPIPA DIINNA 1991 ININ “I¥N DYV INT
For if the acquisition of the 1"v%vm 072y was through =31 11p, why does the
xn»2 differentiate, when he made a 1?37 in the ¥pap, between 2372 (which he
is not mNp through the ¥ypapa npin) and P9uwR (which he is mp through the P
ypIp2)?!

mooIn explains why there should be no difference between 0°72y and Povovn, when he is 7P
them %17 13p2:

$IP NY 6111”1‘15‘\2 NPT HINNYN PN AN 2P 1IN INYTY NINNYN INT
For if the -xn, which he is acquiring 7pt12, is being watched under his
supervision, then in both instances (by '272v and o*v>un) he acquires them
through 7311 PI1p; and if the Jxn is not ynPT> naanwn, then he is not 7339 in both

' The x 2 should have begun citing the Xn>172 from 121 0°72y2 P Povum 0272y (which is relevant to the 8%
*R1n2); not from 15 MYPIPY 2°72Y 12 151, See 175 7w n"nX. In addition, why do we need this Xn*»32 (of 19119 791) to
teach us that "7 *2u%vn3 >72Y, since we have already cited the &n>12 of a2k, which proves that "7 *2v%013 *72v (for
it states *7vb0n 7P K2 0722 p°17). See footnote # 4.

% See footnote # 4.

3 3% 11 (‘by way of’) is when one is transferring (selling or gifting) ¥pp, and simultaneously he also wants to
transfer other °?u%vn (which are not on this ¥p1p) to the same person. If he transfers the vpap 23R Povown, the
transfer of the 1°2u%vn is valid, provided that the 7% made a "1 in the ¥pp. M2oIN has previously taught us ( 7"72
XIX) that 23X is a 112772 7Ip.

* If the mn»™3 are discussing 2¥n 1Ip, then it would not be relevant to the dispute whether >%u%v13 W *vpapnd *72v
>n7; for (in addition to the fact that 92 13 is X1>7X71 and is therefore irrelevant to the np12nn [see XX 71"7 '0I]) we
can reconcile the mn>>92 (as the X3 does later) that by n193 the 0°72y are 7139 the %7 172 P20 and by Nvd WK,
they are not xn 7 ap. [Similarly we could also say that the &n>972 of °n°aX is also concerning 131 %1 1°1p. See
footnote # 1.] However now that mnoin proved that the w1 of NWPIPY 0°72y 17 101 is discussing 23K 1°1p, we assume
that the entire Xn>>72 (including P2vhum 0°72Y) is discussing 3% 1°3p. This validates the *Xin> X5,

5 See w"w1 who comments that the Xn°™32 cannot be discussing % 11p, for the Xn>02 states 7P X2 PovbwAA PIIn
ypp (and similarly 121 2>72y2 p11777); this certainly cannot be referring to 117 117!

%93 13p is derived from 7; just as one’s hand is 1My 7> Mnwn similarly a 9%m must be 2"7w2 Y72 RNWA.

7 See ‘Thinking it over’.
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instances (not the 2°72v and not the 1°%v5%un).

SUMMARY
The Xn>>12 of MypPPY 0°72v 12 1on is concerning 23R PIp. A 7% is A1 anything
inside it (including 0°72y), provided it is Y77 nANwA.

THINKING IT OVER

mooIn says that if it is a MY7? nwnwnn Jxn it will be AP both by 072y and
Tououn. However later nsoin states 7n» 11"72 that 2°7ay ono are not INYT> Panwn.’
How can we reconcile these two noon?!™

8 See footnote 7.
® See there footnote # 4.
10 See 7"w 0" ,X"wAmn and (180-1 77wi) 1"nK.
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